uy=(\ - 550)/502 logarithmic V , Vo-data uy=(\ — 550) / 5
=-0,35\-u ] logV. =(logV,+logLo)/2 logVi,= —0,35)-u ]2
logVo =logV + 0,02 logLo = —0,35L)—Us7d
Adaptation: A, =557
557570 m.aximum
maximum 'LOQ(LOng;_O’OZ
:?2(:%?9);0'02 Threshold
Threshold
t2=0,00

logarithmic V , Vy-data

logV =(logV,+logLe)/2 log
logV, =logV + 0,02 logL, = -0, 35[.1A—u5m]
log [Vo, V., Adaptation: Ay, =557 Lol

-data uy=(\ - 550)/502 ithmi | =l.rdata [9) /50
= )2 log  =-0,35u,-u ]2

’+Iog )2 log = =-0,35u)\-u ] +log
+0,08 log =-0,35u\-u ]

+0,08 log =-0,35u\—u ]
Adaptation: A =470 Adaptation: A =470

maximum
maximum ILOgELOmg;—O,OS
log(L m)=-0,08 m=0,

og(: i Threshold
Lm=0,81 il
Threshold ta=0,00
ta=0,00

’

] 3 U
600 700 A/nm

uy=(A — 550) / 50
+Iog )2 log =-0,35u)-u ]
+ 0,08 log =-0,35u\-u ]
Adaptation: A =470
maximum
maximum ILogELOm)z—O,OS
:?n%(:%r’"gfo'os Thjresvhold
Threshold 10,00
t2=0,00

-data uy=(A — 550) / 502 ithmi -data

=(log +log )2 log =-035[h-u 1.
=log +0,08 log =-0,35u\-u ]
Adaptation: A =470 )

=1=2[( " /- )-1]
-1=2[( / )-1]
3 U 3 Uy
700 A/nm

600 700 A/nm

CEL80-5A

logarithmic L , Lo-data u=( - 550)/502 uy=(A — 550) / 502

logL =(log©,+log )/2 log® . =-0,35u)\-u ] = +log )/2 log© =-0,35u)-u ]2

logL, =logL + 0,35 log =-0,35u,-u ] logL, =logL + 0,35 log  =-0,35u\-u ]

log[Lo, L, 0, Adaptation: A =570 log[Lo, L, 0, Adaptation: A =570
maximum

maximum 2 'Lc’gg-omzz_o’?’s

loaLm=-0.35 Threshold

y tz=0,00

Threshold -~
L

120,00
(cof)-1
( IL)-1
Rale

600 700 A/nm

CEL80-8A




